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G$H�IKJML�NOLQP:R'S'L7SUT�VWL dy

dx XZY�[F\ L�NFV^]`_'aWV^b�VdceL7SUf Y S'g�cOVWhZS x2 + y3 = 0 if<j'NlkML7amP:R'LKnoL7NOcOL
x
L7p�V [ cOVWL7NOc%aWhZg X a<L7VWS'LKL7p�_'a^VWb7V^cOL`f Y S'g�cOVWhZS y = f(x) q y aWrZstc [ VmP:Rq a^h�g X avu \�Y N:P:R x XtYw[O\ Nej�P:gZL�Swuyx8f<j'N<k8L�aWP:R'Lzn{L�NyceL y

L(p�V [ ceV^L�Nyc	L7VWS|f Y S'g�cOVWhZS x = g(y)
x

T�g�VWb7b�V^L�NOL�S}T�V^L \ VWL~VW]�_�a^VWb7V^cOLDf Y S'g�cOVWhZS x2 + y3 = 0 i
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G$H�I dy

dx
= − 2x

3y2 	 y = f(x)
L(p�V [ ceV^L�NycDaWhZg X a VWS"L7VWS'L�]�
 S�cOL�N
� X a^a Y ]��

0 = (x0, y0) 	�� X aWa [
x0 6= 0 	 x = g(y)

L7p�V [ cOVWL7NOc 	�� X a^a [ y0 6= 0 i


